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QUESTION 1

Hot spares provide which function? (Choose the best answer.)
A. bothband c

B. efficiency for volumes

C. reserve capacity for disk pools

D. reserve capacity for volume groups

E. None of the above

Correct Answer: A

QUESTION 2

Controller firmware package files start with which character(s)? (Choose the best answer.)
A. SMIA

B. CFW

C.DLP

D.RC

E.N

Correct Answer: A

QUESTION 3

The interval for an asynchronous mirror group should usually be equal to . (Choose the best answer.)

A. the corresponding application\\'s RPO

B. half the corresponding application\\'s RPO

C. half the corresponding application\\'s RTO

D. the corresponding application\\'s RTO

E. the amount of time required to copy the size of the mirror repository to the remote site

Correct Answer: E

QUESTION 4
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Consult the

A. Storage Array Profile

B. Real-time performance monitor
C. Recovery Guru

D. Unreadable Sectorslog

Correct Answer: A

QUESTION 5

A d-stripe within a disk pool is always the equivalent of
A. 9+1 RAID 3

B. 9+1 RAID 5

C. 8+2 RAID 6

D. 5+5 RAID 10

E. 10+0 RAID O

Correct Answer: C
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to determine the current link status of a host port. (Choose the best answer.)

. (Choose the best answer.)
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